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library(e1071)

# Breast-cancer data
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setwd(*"'D:/R/Sample')

hddata <- read.csv("HWO3HeartDiseaseCleveland.csv™,header=TRUE)
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names(hddata)
dim(hddata)
head(hddata)
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hddata <- na.omit(hddata)
dim(hddata)
ndata <- dim(hddata)[1]

# subset() BAERLT, FTELEMEDHIRNTES
# Class[ENELTHES

hd <- subset(hddata,select=c(-Class))
hdclass <- subset(hddata,select=Class)
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ntdata <- round(ndata*0.75)
hdtrain <- hd[1:ntdata,]
hdtrainclass <- hdclass[1:ntdata,]
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# TANT —R(E&T—SDRHEE)EHD # MYH e TEET
iristrain <- iris[c(1:40,51:90,101:140),]
hdtest <- hd[(ntdata+1):ndata,] iristest <- iris[c(41:50,91:100,141:150),]

hdtestclass <- hdclass[(ntdata+1):ndata,] ‘
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pred <- predict(model, hdtest)
(cm <- table(hdtestclass, pred ) )
(accuracy <- sum(diag(cm))/sum(cm))




